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The annual Corus Wijk aan Zee (Netherlands), a 14 player round robin, features both the World Champion Vladimir Kramnik and world number 1 ranked player Veselin Topalov.  After 8 rounds Topalov has taken the lead (6/8), followed by junior Teimour Radjabov (5.5).  Norway’s boy prodigy Magnus Carlsen has found the going tough with 5 draws and 3 losses in the first 8 rounds.  In round 2 against David Navara he could have taken advantage of Black’s last move …g5?  What did White miss?
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      VESELIN  TOPALOV   -   ALEXEI  SHIROV



            2007  Corus Wijk aan Zee, Round 4



          Grunfeld Defence, Exchange Variation



 1     d4  
Nf6  


 2     c4  
g6


 3     Nc3  
d5  


 4     cxd  
Nxd5



 5     e4  
Nxc3  


 6     bxc3 
Bg7



 7     Bc4  
c5  


 8     Ne2  
Nc6



 9     Be3  
0-0  


10    0-0  
Bg4



11    f3  
Na5  


12    Bd3  
cxd



13    cxd  
Be6  


14    d5!  
Bxa1



15    Qxa1(a)  
f6  


16    Qd4  
Bf7



17    Bh6  
Re8  


18    Bb5  
e5!



19    Qf2  
Re7 


20    f4  
exf



21    Qxf4 
Qb6+  


22    Kh1  
Bxd5!(b)


23    exd5  
Qxb5  


24    Qxf6  
Qe8(c)


25    Qd4!(d) 
Rd8(e) 

26    h3  
Rf7



27    Rxf7  
Qxf7 


28    Qc3! 
b6



29    Ng3(f)  
Nb7  


30    Ne4  
Qe7



31    Nf6+ 
Kf7  


32    Nxh7 
Kg8



33    Nf6+  
Kf7 


34    Ng4 
Kg8



35    Qd2  
Re8 


36    Qf4  
Qd6



37    Qf2!(g) 
Qc5  


38    Qg3  
Qd4(h)


39    Kh2  
Nd8(i)  

40    Qd6! 
Ne6



41    Be3
resigns

a)  With a strong centre and a black-square bishop to take advantage of Black’s weak kingside, White has adequate compensation for the loss of the exchange.
b)  22…Qxb5?? loses to 23 Qxf6.

c)  Not 24…Qxe2??  25 Qf8+!

d)  A new move prepared by the Topalov team which may cast doubt on Black’s long established strategy.  
e)  If 25…Rf7  26 Rxf7, Qxf7  27 Bd2 hitting the unprotected knight and preparing a Queen/Bishop battery with Bc3.

f)   Heading for e4/f6.  Black is heavily outgunned on the kingside with his knight offside on a5.

g)  Keeping the pressure on rather than regaining material with 37 Nf6+.

h)  Better 38…Qe7.
i)  39…Nc5 would hold out longer.

We are familiar with heat causing difficulties for tennis players at the Australian Open but can you imagine heat being a problem for an outdoor chess game played in the northern winter?  It happened on 11th January in a game between London and Moscow. It was played with one metre high pieces made of ice depicting landmarks in each city (London’s king was Big Ben) between teams led by Nigel Short and ex-world champion Anatoly Karpov. The game, part of the Russian Winter Festival in London, was agreed drawn after an hour’s play and 39 moves with both sides facing meltdown in the heat (12 in Trafalgar Square and 6 in Pushkin Square). 

SOLUTION:  Black’s last move …g5 leaves his queen unprotected allowing 1 c6! Qxb5  2 axb5, bxc6  3 bxc6 and White will soon queen.
